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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot EC/PH from runoff

Warning: col ['FVIEC1 _E', 'FVOEC1_E2'] missing

0.2

0.4

0.6

0.8

Warning: col ['FVIPH1_E’, 'FVOPH1 _E2'] missing

0.0

0.2

0.4

0.6

0.8

1.




400

300

200

100

30.0

27.5

25.0

22.5

20.0

17.5

15.0

12.5

80

70

60

50

40

1750

1500

1250

1000

750

500

250

3.0

2.5

2.0

1.5

1.0

0.5

1.2

1.0

0.8

0.6

0.4

Plot [['I", "lopt’], ['T, "Topt’], ['RH, ’RHopt’],

['ETcl’, "optETcl’], 'LAl', ’optEtRate’]

N

n

—

neE AN
v VUL

i

RV
WY

—— -  |opt |

A

E Dl ’\/‘v‘\/JW WV\’\V\AV\’\ |
! | AN
N |/ | R N N
I/J IV \v/ '/ U%v/ \
|
| M
~—— SN W \
\ V7 \/VV i
U
i /\//’\_,_[\-/¥[\ IJ \'\/\VA = El:ém |
: v !
| /,/ |
Al N
AN Ny
T ]
E ) / ‘\ — LAl |
- N
jd
A ~
_ i \/\ I optEtRate
NV L VUM VANV WAN S
LAY (A
VR
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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